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quartetwiss_k=am0_difio

- Eniries 1391
B Mean 0.001287
[ _ Std Dev  0.04545
[ |'||'|||-L| I N T TR A TR NN MO TR NN TR NN SN TN NN SR SO S N1 HI'I L1

0.1 -0.05 0 0.05 0.1

PosHelAccO/PosHelNSamples) - NegHelAccO/NegHelNSampleso

Run 4592 quartetwise, Diffs0: Beam ON, Laser OFF

quanebwise_beami_last diif

| Entries 23406
[ Mean 0.3413
- Std Dew 0.3394
B [ I [ I R I I | [ |

-1 0.5 0 0.5 1 1.5 2

PosHelAccO/PosHelNSamples) - NegHelAccO/NegHelNSamplesD




Run 4592 quartetwise, NegHelAccO/NSamples: All
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Run 4592 quartetwise, PosHelAccO/NSamplesC: All
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Run 4592 quartetwise, PosHelAccO/NSamplesd: Beam ON, Laser ON
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Run 4592 quartetwise, Sums0: All
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Run 4592 quartetwise, Sums0: Beam OFF
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